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QUESTION 1

An architect is tasked with expanding an existing VMware software-defined data center (SDDC) solution so that it can
be used to deliver a virtual desktop infrastructure (VDI) service off-shore development activities. 

The production environment is currently delivered across two geographically dispersed data centers. The two data
centers are currently connected to each other through multiple diversely routed, high bandwidth and low latency links.
The current operations management components are deployed to a dedicated management cluster that is configured
with N+1 redundancy. The current VMware software-defined data center (SDDC) has a monthly availability target of
99.5%, which includes all management components. 

The customer requires that the new solution scale to support the concurrent running of 500 persistent virtual desktops.
The virtual desktops must not share the same virtual infrastructure as existing virtual machines, but can be managed
using the same VMware operations management components. Any new VDI service management components must be
installed into the management cluster. There is no requirement to back up the virtual desktops because all relevant user
data is stored centrally. The VDI service is providing business critical services and must have an availability target of
99.9%. 

Given the information from the customer, which two assumptions would the architect include in the design? (Choose
two.) 

A. The existing virtual infrastructure has sufficient capacity to host the new VDI workloads 

B. The existing operations monitoring tools have sufficient capacity to monitor the new VDI services 

C. The existing management cluster has enough available capacity to host any VDI service management component 

D. The management cluster has N+1 redundancy 

E. The VDI service has a higher service-level agreement (SLA) than the operations management SLA 

Correct Answer: AB 

 

QUESTION 2

An architect is reviewing a physical storage design. The customer has specified that a new active-passive based
storage array will be used to provide storage for the vSphere clusters. 

Which configuration should for the architect recommended? 

A. VMW_SATP_LOCAL 

B. VMW_PSP_MRU 

C. VMW_SATP_DEFAULT_AA 

D. VMW_PSP_FIXED 

Correct Answer: B 

Reference: https://docs.vmware.com/en/VMware-vSphere/6.5/vsphere-esxi-vcenter-server-65-storageguide.pdf (188) 
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QUESTION 3

An architect is designing a series of new vSphere environments for an organization. The environments will 

be deployed in their US-East and US-West region data centers. Each data center may have one or more 

dedicated vSphere environments. Only the vSphere environments within a data center will be configured 

with Enhanced Linked Mode. The Chief Technology Officer (CTO) has authorized the use of VMware 

vRealize Automation Cloud for automation. The build team creates standardized virtual machine images 

for various operating systems in Open Virtualization Format (OVF) and publishes the latest version on an 

as-needed basis to an internal HTTPS-accessible repository. 

The architect must design a content library topology that meets the following requirements: 

A localized content library must be available in each data center. 

Each content library must be updated when an image is updated and released by the build team. 

The cloud automation platform must be able to consume the latest approved content library images. 

It must leverage the existing build team processes. 

What should the architect recommend to meet the requirements? 

A. Work with the build team to create a local content library for each vSphere environment. Import the OVF images
when new image are published to the repository. 

B. Create a local content library for the primary vSphere environment in each data center. Create a subscribed content
library for each additional vSphere environment in each data center. Configure the content library to download content
automatically. 

C. Work with the build team to automate a JSON-based manifest to the repository when changes occur in the
repository. Create a subscribed content library for each vSphere environment. Configure the content library to download
content when needed. 

D. Work with the build team to automate a JSON-based manifest to the repository when changes occur in the
repository. Create a subscribed content library for each vSphere environment. Configure the content library to download
content automatically. 

Correct Answer: B 

 

QUESTION 4

A customer defines a requirement to minimize the vMotion migration time during a maintenance period. The servers
being used are equipped with eight 1 GbE network adapters. 

Per the defined logical network configuration, there are two network adapters each used for: 

Management traffic vMotion traffic iSCSI traffic Virtual machine traffic 

Which design decision should the architect make to meet the customer requirement? 
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A. Use Network I/O Control to define a reservation for vMotion traffic. 

B. Implement Multi-NIC vMotion by adding additional vMotion VMkernels. 

C. Configure a dedicated TCP/IP stack for vMotion traffic. 

D. Combine vMotion and Management traffic to make use of four adapters. 

Correct Answer: A 

 

 

QUESTION 5

An architect is designing a new vSphere platform for a customer to meet the following requirements: 

The platform must be deployed into five physically separate sites. 

The sites are spread across multiple regions. 

Some sites require more than one vCenter Server. 

The platform must provide an administrator with the ability to access virtual infrastructure components 

across all sites from a single management tool instance. 

Which single sign-on (SSO) design recommendation will meet these requirements? 

A. Use an SSO domain across all vCenter Server instances 

B. Use an SSO domain per region 

C. Use an SSO domain per vCenter Server instance 

D. Use an SSO domain per site 

Correct Answer: C 

3V0-21.21 VCE Dumps 3V0-21.21 Practice Test 3V0-21.21 Study Guide

Powered by TCPDF (www.tcpdf.org)

3V0-21.21 VCE Dumps | 3V0-21.21 Practice Test | 3V0-21.21 Study Guide                                4 / 4

https://www.leads4pass.com/3v0-21-21.html
https://www.leads4pass.com/3v0-21-21.html
https://www.leads4pass.com/3v0-21-21.html
http://www.tcpdf.org
https://www.leads4pass.com/3v0-21-21.html
https://www.leads4pass.com/3v0-21-21.html
https://www.leads4pass.com/3v0-21-21.html

